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~d0- Subject: Maths Term: Half Term | - June Year Group: 9 JG5Ceed
Beckfoot
[Number —Types of Number | | Geometry and Messure —Angles nd Ares | | Key Vocabulary
| | BIDMAS Types of l Integer A whole number that can be
« Brackets 3+ (12+3)x4 positive, negative or zero.
. _ angle £ i
* Indices =3 +axd4 2 | Factor A number that divides exactly
* Division =3+ 16 ACUTEANGLE  RIGHT ANGLE acto into another number without a
) ;4;';'52?“0" =19 remainder.
) . The result of multiplying a
* Subtraction
‘ E ; MUItIPIe number by an integer.
pl OBTUSE ANGLE 4 | Parallel Lines are parallel if they are
_g HIIII'IIM RUIES Smerne e a0 always the same distance apart
o + = | (called "equidistant"), and will
b1y 9 ‘ Typeslof ¢ never meet
triangle
i ' i '=. 5 Perpendicular It just means at right angles
’ - (90°) to.
.g .J'!:O Equilateral Isosceles The red line is perpendicular to
o et . .
“th y the blue line:
So@-e = D
Scalene Right-angle

| | HCF

Factors of 48

la]2]z3]ale]| s|12]16]24]as

Factors of 30

a2 2|5 [6]10]15]30]

|The HCF is 6

Multiples of 3
| 3| . [1s[22 |24
Multiples of 7
| 7 | 14 | 22 | 28 | 35 | a2 |

| 39 | a2 ]

The LCM is 21

| | Square number

3 - - - > e e e
sequence : * & ..... - ® ® ® &9 ... L .........
62=36 7%=49
2 | Cube number sequence Stiuere ""mb;ffs a2=1 3'-64
g & B
3 Triangular number Cube numbers 2;;8. 5:1262;%5
sequence = [== @ |I-2-F8 -
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Subject: Maths Term: Half Term 2 - September Year Group: 9 JG5Ceed
Beckfoot
| Algebra ~Working with symbols | [ Key Vocabulary
Multiplying 1 1 l 1 1 | SimP“f)' | | Expression A mathematical statement written
Fractions e =y = — using symbols, numbers or letters
2 3 E 3- 'ﬁl 2 | Expand To expand a bracket, multiply
— each term in the bracket by the
D'v'd.mg 2 .. expression outside the bracket.
Fractions 3
2 Expand and ﬂ_“‘x 3 Factorise The reverse of expanding. Factorising
2 x 2 KFC simplify Oq — 2 (3(1 — 4) is writing an expression as a product of
4 1 C'We terms by ‘taking out’ a common
=313 9a — 6a + 8 factor.
Convert 4 | Gradient The Gradient (also called Slope) of
FracFions 3a+8 a straight line shows how steep a
Decimals straight line is.
Percent

50%

Decimal

Rounding

<‘ 11 12 13 14 15 16 17 18 19 2
,

round down to the nearest whole number.

If the tenths digit is 1, 2, 3 or &, we If the tenths digit is 5, 6, 7, 8 or 9, we
round up to the nearest whole number.

1.1 <{mmms ) 1.2

If the hundredths digit is 1, 2, 3 or 4,
we round down to the nearest tenth.

If the hundredths digitis 5, 6, 7, 8 or
9, we round up to the nearest tenth.

Multiplying
decimals

(3213 -0.63 N

3.4 | 5 Ones tenths hundredths
5 1| 00000 @
1/0/3]5| 000 OCO0 |@
v 000 00 ©

| | Straight line graphs

Draw the graph of y = 2x- 1
x -2 [« Jo 2
v 5 [=21a]1703]

1.311‘/1134
|

Motice this graph has a gradient
of 2 and a y-intercept of -1.



https://www.mathsisfun.com/geometry/slope.html
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Subject: Maths

Term: Half Term 3 - October

Year Group: 9F

Beckfoot

Geometry and Measure —Volume

Key Vocabulary

I congruent

Exactly the same in every
way

prism

3D version of a 2D shape

A section of the
circumference of a circle

percentage of another

another quantity

Reverse percentage

A jumper was priced at
£48.60 after a 10%
reduction. Find its original
price.

£48.60

or—— = £54

0.9

100% - 10% = 90%
90% = £48.60

1% = £0.54

100% = £5

Prism

P tage = out of 100
ercentage = out o 80% — 80 — é and Area
100 5
| Circle (Area) Circumference

Increase/decrease by a Increase 30 by 15% A = 2 C=nxd o
Percentage 30x .15 =345 “Lere,

Decrease 50 by 10%

>0x 0.9 =45 p) Area & perimeter of a _mr?
Percentage change Change 100 semicircle . )

T .
Original amount P = — + diameter

One quantity as a one quantity 100 3 Volume of any regular Area of the cross

section (shaded) x
length

2
3 Arc
5

sector

‘Pizza slice’ the area
between 2 radiuses

Geometry and Measure -

Solve an equation

Use inverse
operations

on both sides of the
equation (balancing
method) until you find
the value for the
letter.

(+3)

(+2)

Unknown (One side)

2x—3=7
2x =10
x=5

d

Unknown (both sides)
(Eliminate smallest x)

(-2x) 5x + 6 =2x + 12
(-6) 3x+6=12

(+3)

Brackets
Expand first

3(x+7)=3x+21

The solve using
balancing method

Fractions

Multiplying by the
denominator eliminates
the fraction

2x+6
=1

03) %

0

- 2x+6=30

Construction
Area of a sector & arc angle Bisect a line
4 = X mr? |
length 360 * Place compasses at
Arc length = a:f;e X either end and go

a curve.

over half way making

2 Bisect an Angle
* Using a compass,

B)

through

draw a curve to meet
the two lines (A and

* Use these points to
find another meeting
point, C. Draw a line

3 Congruent Triangles

SSS,SAS,ASA,AAS,RHS
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Beckfoot

Writing Formulae
(Derive) Substitute
letters for words in the
guestion.

Subject: Maths

Term: Half Term 4 - January

Year Group: 9F \

Expression, Equation,
Identity, Formulae

Substitution:
replacing letters with
negative numbers

Rearranging
formulae: Use
inverse operations
on both sides of
the formula
(balancing method)
until you

find the expression
for the letter.

Key Vocabulary
Bob charges £3 per - -
window and a £5 call out I Gradient Hon steep the lineisata
charge. I Calculating Speed from a distance-time particular point
C=3N+5 1 fgreiph —fiding e gradient p) Substitution Replacing a letter with a given
Where N:number Of E ;g I BA_ + Gradient = Change in distance numbel‘
windows and C=cost % £ 50 ! ., Ctangelnthia)
a E’ 40 /| « Gradient = Distance at B — Distance at A
€ 30 : Time at B—Time at A
e S o e A / ! s 3 squared When a number is multiplied
4a+7b 4a+12-60 N 18 1 2 :"' 7 || - Gradient = 20mis by itself
— e s TME U e
®) 4 cubed When a number is multiplied
A=nr? || (@sbr-atszansee by itself then itself again.
5 Hypotenuse Longest side of a right angled
a=-3,b=2and c=5. triangle
Find:
L 2= x.3= 6 | 'Lnxz Rule e Geometry and Measure — Pythagoras
axa' =a™ axa=a’t=a
2.3a-2b=(3%x-3) - Theorem
(2 X 2)= -13 ax +a}’ = ax_y a6 _(12 = a6_2 = (14 I Flnd|ng the hypotenuse az + b2 — C2
o U (longest side) 32+42=125
a ) =a a)=a =da 2 2 _ 2
- 2x-1 ( ) ( ) a“+b°=c V25 =5
Make x the subject of y = a
z p) Multiplying- (1.2 x 103) x (4 x 10°) =
, ) Standard form 1.2x4=438 103 x 10° = 10°
Multiply both sides by z =48 x 10° -
yz=2x-1 — -
Add 1 to both sides 3 Dividing- (45 x10%) + (3 x 10%) = 1.5 X 10° p) Finding a shorter side a? =c?—b?
1=2 Standard
.. yzt . * Form
Divide by 2o both sides 3| Provngwi @ + 57 = Then
yz+1 4 Add/subtract- 2.7 X 10* + 4.6 x 103 Pythagoras Triangle is
=X
2 Standard RIGHT ANGLED
. : = 27000 + 4600 = 31600
We now have x as the subject. Form *
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I Plotting Quadratic Graphs

Handling Data Cycle
| g Y

In your Unit | exam, you might have to
tatistical investigats 1

Subject: Maths

Term: Half Term 5 - February

Year Group: 9F

write a plan for a statistical investigation. A

the 4 P of the DATA HANDLING CYCLE

//T>

Specify the |
problem and plan |
an investigation

Interpret your |
results and make
conclusions

Collect cata
using a survey

or experiment

-

Analyse and I
present your data |

using statistics, | <‘_‘//

graphs and charts

Hypothesis testing

In st

. a hyp is is a st
that might be either true or false. You

carrying out a statistical investigation.

TEST whether the hypothesis is true by

When you're answering exam questions ‘
using the Data Handling Cycle, make
sure your answers are specific to the |
hypothesis you want to test. |

can

y=x

|
=0 = k<

Key Vocabulary

I Factorise

Put in to brackets with the HCF
outside the bracket

2 Reciprocal

| divided by the number in

. . 1
question. Reciprocal of 9 = 5

Finding the equation

of a line
. Change iny
Change in x

. §=3
1

Quantitative(number)
Data that is numbers
Discrete or continuous

Qualitative (worded)
Data that in word. Eg. people’s
favourite colour.

* Gradientis 3
* Yinterceptis |
* Equation of the

3 Discrete
Data that can only take
certain values.

Continuous
Data that can take any value within a
range. Eg. height.

line:
y=3x+1

(1.4)

3 Square Root

a number when multiplied by
itself equals the number in
question V9=3

Cube Root

a number when multiplied by
itself 3 times equals the number
in question 3V27 =3

Pie Chart

* Total Frequency + 360
= angle per data

* Multiplying by frequency
= angle per group

* Check angles add
to 360°.

Histogram

= frequency /class
width

Frequency Density

Drawing a histogram

| Derive simultaneous
Equation

3 pumps and 2 tyres cost
=£60

£65

2 pumps and 3 tyres cost =

Convert to equation and

solve
3p+2t=60
2p +3t =65

Test Scores

Frequency | &

o

0-10
10-30
30-50
50-60
60-80
80-100
100-120

Plot Frequency
Density on Y axis

Area of the Bar

%
1
14
16
20
9
3

10
20
20
10
20
20
20

0.7
11:20=0.55

=frequency

Solving Simultaneous

Equations Graphically

* Look for where they
meet

* Meetsat(1,5)

* Sox=1landy=5
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Subject: Maths Term: Half Term 6 - April Year Group:9F 1GSleed
Beckfoot S
Geometry and Measure — Reflect, Rotate, Key Vocabulary
Translate | Frequency How many
I Mean from a Numbers of | Frequency Number of sports
frequenc sports played x frequency S -
tabclle 4 D — l Rotation: need the degrees : 2 Symmetry Line where a shape
<15 turned, direction (clockwise . 17 looks the same on both
, — or anti-clockwise) and the . sides
i centre of rotation. | g s EEREEER L 3 Outlier A result that doesn’t fit
TOTAL
Mean =140 + 76 = 2 sports (to the nearest whole number) j .
s 4 Elevat|on The angle upwards
2 Estimating Estimated mean grouped data so the mi from horizontal
the mean N el S 2 Reflection: need the line that 5 Depression The angle downwards
ceonl s | 21l & the shape has been reflected from Horizontal
E e in. 1A
L2 2 [ [ This shape has been reflected b i A b A e B
5o e = iny=1. y
. Translation: need the
Geometry and Measure - Trigonometry 3

direction and how far the ‘
shape has travelled. Can be

glven as a column vector. !

Sine sinf = —

j=n] Ne]

0= sin™! %

EXamPIe: 6 5 4 3 2 -10 1 2 3 4 3 61x

(—16) This means | right and N

Cosine

| =

cosB =

LA /\
8 = cos lﬁ

6 down. ‘

I Sharing an amount
* Add

* Divide

* And Multiply

Share £30 in the
ratio3:7

e« 3+7=10

o £30+10=4£3
3x£3=f9and 7 x
£3=£21

0
Tangent tanf = —
B! an n

0= tan’lg

4 Rotational Symmetry

The number of times a shape

looks the same when spun et

360 A

Mo rotational

symmetry

2 Simplify unitary ratio.

Put 2 : 4 in the form

* Make one side of n:l
the ratio |. +4 2:4 =4
0.5:1
3 Ratio Fraction
Red :Blue Red: 5/8
5:3 Blue: 3/8




